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BHMEMFETCORBEEEMILONHN - BEAINOHLHE-BEHE] (FF2EFEE)
(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)
i Pt -
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T = DBRB=E| K &&t CH
1 |deiEE 1.3E+4 1.7E+2 13,219.0 1.6E+3 1,602.0 14,821.0
2 |EHE 4.7E+0 47 4.7
3 |BEFE 1.6E+1 16.2 16.2
4 |EHE 1.0E+1 10.4 7.0E+3 7,000.0 7,010.4
5 (AR 9.3E+0 9.3 9.3
6 [ILFER 1.3E+4| 8.0E-1 13,000.8 2.9E+3 2,900.0 15,900.8
7 |fRBE 42E+3| 7.3E+1 42731 2.1E+3 2,130.0 6,403.1
8 |ZWE 2.0E+0| 4.4E+ 456 456
9 [WHARE 1.1E+4| 7.0E-1 11,428.7 2.7E+4 27,079.0 38,507.7
10 [HER 42E+3| 9.9E+0 4,209.9 4.8E+2 480.0 4,689.9
REEET! 1.6E+4 1.3E+1 15,9441 2.6E+4 26,010.0 41,9541
12 |TER 1.3E+4| 1.0E+1 13,431.0 9.4E+4 94,333.8 107,764.8
13 |EREER 1.7E+4| 2.7E+1 16,643.0 3.2E+4 32,250.0 48,893.0
14 |[#E)E 49E+4| 5.9E+0 49,310.1 4.3E+4 43,4200 92,730.1
15 |FriRE 6.6E+3| 2.9E+1 6,649.0 2.5E+3 2,500.0 9,149.0
16 |EWE 49E+3| 1.0E+0 4,901.0 4,901.0
17 |RINE 90E+2| 1.4E+2 1,037.3 7.8E+3 7,800.0 8,837.3
18 |f&@HE 1.6E+4| 7.4E+0 16,017.4 7.7E+3 7,700.0 23,717.4
19 [ILEE 5.0E-1 0.5 2.6E+1 26.0 265
20 |REFHER 6.4E+3| 4.3E+0 6,414.3 3.2E+3 3,200.0 9,614.3
21 |IKEBR 45E+3| 2.4E+1 45236 1.0E-1| 15E+3 1,510.1 6,033.7
22 |EEEIR 1.2E+4| 2.3E+1 11,542.7 1.5E+2 150.0 11,692.7
23 |BHE 24E+4| 21E+ 24.392.1 20E-1| 2.0E+4 19,750.2 441423
24 |=ZER 1.8E+0 1.8 1.8
25 |HER 1.8E+3| 1.0E+0 1,751.0 2.3E+3 2,300.0 4,051.0
26 |REAT 59E+4| 1.9E+2 59,235.0 7.0E-1| 4.2E+3 4,190.7 63,425.7
27 | KRFF 1.0E+5| 2.2E+1 100,923.9 1.0E-1| 7.5E+4 74,535.1 175,459.0
28 |EER 44E+4| TAEH 44,460.8 1.0E+4 10,084.0 54,5448
29 |RERE 2.3E+4| 1.7E+0 23,201.7 6.9E+3 6,900.0 30,101.7
30 |FNFLE 9.2E+3| 1.4E+ 9,164.2 2.2E+2 220.0 9,384.2
31 |BIE 2.8E+0 2.8 2.8
32 |BRE 6.9E+0 6.9 6.9
33 |EWLE 1.6E+3| 6.9E+0 1,636.9 1,636.9
34 |[LER 26E+4| 1.8E+0 26,216.8 5.1E+2 510.0 26,726.8
35 |lLAOg 3.8E+0 38 38
36 |fESR 6.7E+0 6.7 6.7
37 |BNE 1.3E+4| 4.0E-1 13,100.4 13,100.4
38 |BER 1.7E+1 16.7 16.7
39 |EER 1.6E+1 15.8 15.8
40 |fERR 3.2E+4| 7.1E+0 31,507.1 1.2E+4 11,600.0 43,107.1
41 |*EER 1.4E+1 13.6 13.6
42 |RBE 3.4E+1 33.9 33.9
43 |[BERE 34E+3| 3.2E+1 3,431.9 3,431.9
4 | KRR 75E+3| 3.5E+1 7,535.4 7,535.4
45 |BIBR 5.3E+0 5.3 5.3
46 |EBESER 6.8E+0 6.8 6.8
47 | HEER 1.0E+1 10.2 10.2
£ H 54E+5| 1.1E+3 539,313.2 1.1E+0[ 3.9E+5 390,180.9 929,494.1
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